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Time Allowed : Three Hours 
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Maximum Marks : 100 
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No supplementa7y answer book will be given to any candidate. Hence the candidates should write the 

answer precisely in the main answer book only. 

'ITT -queyr2ff <lil ~I a:@: ·lfU&nf$i)' <lil if Tf "ITT 

wmrm*~ ·fu"@'1 

Attempt Five questions in all, selecti~g at least one question from each section. All questions carry 

equal marks. 

Tf "B q;i::J"-'B-q;i::J" "WA ~1 'q<.R ~, m <fi" ~1 "B''ITT m <fi" 3Tcf, "WlR t , 
Write your roll number on question-paper before starts writing answer of questions. 

m <fi" "B 3N-il UB -;:p:q{ ~1 

SECTION-Amf'Us-a:r 

1. (a) Define Indifference Curve andState its properties. · 

(b). Explain Price subsidy vis Cash grants using indifference curves. 

2. (a) Derive indifference curves through revealed preference approach. 
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10 

10 

10 
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· (b) Prove geometrically or algebraically that: 

·1 AR Price e asticity ·of demand (ep) = ----
. AR-MR 

10 

l@11fo1{J14 3l2lcrr ii1l;;.p1fo1d).q fcff'=l ft:r.& fen: 
' ' 1 

1WT cfil fi (ep) = AR 
AR-MR , . y What are the three st;ges of sh~rt _run productfon function? Why does it not make any economic 

sense to produce in stage I and stage III ? Also state the appropriate stage of production and 

reasons behind it. 20 

6i(:"qcf>1'111 1:fi'Wf cfil ~-m ~? am$fl ~r~~',o, crn:ru 3lcW,TI if~ 

cfiBT cp:n' t? W~ 'ITT~ cfil 3lcW-TI cfiRll11' cfi1 ~I 

SECTION-B/lYIT.s-aI 

4. (a) ' Derive the short-run supply curve of the perfectly competitive firm. 10 

(b) Distinguish between perfect and pure competition. 10 

5. (a) Explain the kinked demand curve theory of Oligopoly. 10 

(b) Explain Long-run equilibrium of firm ininonopolistic competition with free entry ofnew :firms. 

1J;cf>TI~chRl,l-lcfi Slfalllrldl 3Rf1TTf 'tfi1'.T cfi <;.ll'.fcf>l'111 cfil '&lT&lT 1:fi1TI cfiT "Sl(ffl 

"ITTI 

6. Explain briefly: • 

(a) Measurement of Monopoly Power 10 ·-·-
V-0085/5261 2 



(b) Impact of Monopoly on Economic Welfare 
10 

SECTION-Cl~-~ 

7. How would you explain factor pricing in terms of the marginal productivity theory under conditions / 

of Perfect Competition? 
20 

/' (a) Definff Pareto Optimality and State the three conditions. 10 

(b) Explain Monopolistic Expl9itation of L~bour. 10 

/ Write a - short notes on tlie following: 

Pii.;iifctia m~ -~: 

(a) Point of Bliss. 10 

(b) Theory of Second Best. 10 

V-0085/5261 3 
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Time Allowed : Three Hours 
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Maximum Marks : 100 
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No supplementary answer book will be given to any candidate. :flence the candidates should write the 

answer precisely in the main answer book only. 

fcfim tjt 'C!Ua.-TT2TT cf>! <{t ~I 3'.Rl: 1l€fa_.nf$ff cf>! fcf;- ct if 'ITT 

Wffil * ·IB©I 

Attempt Five questions in all, selecting at least one question from each section. All questions carry 

equal marks. 

Write your roll number on question-paper before starts writing answer of questions. 

m ,r,t "TT i:n: m "¥<i'R fufurQ:1 

SECTION-.ArolUs-at 

1. Explain the following: 5+5+5+5=20 

(a) Macro Economic Paradoxes. 

V-0086/5262 P.T.O. 



(b), Differe~ce between Micro Economics and Macro Economics. 

(c) Difference between Ex-ante and Ex-past variables. 

(d) Difference between Stock and Flow Variables. 

2. (a) Discuss various concepts of National Income. 10 

(b) Discuss the relationship between National Income and Economic Welfare. 10 

' ' 

3Wl T!;c( 3llf$fi" 'q;- ll~ qft fcrm ~I 

3. Critically evaluate the Milto,n Friedman version of quantity theory of money 20 

SECTION-Bl 1g1Tg-Gi 

4. Elaborate the Keynesion Model of employment determination. 20 

'UWITT R~ qft 'cfil cfUR ~I 

5. Explain the Hicks Theory of trade cycles and discuss its limitations·. 20 

fucm _~ olWffi qft ollT&TT ~311· qft ~I 

V-0086/5262 2 



6. 

7. 

8. 

Write a short notes on .the-fullowing: 

(a) . Relative Income Hypothesis 

(b) Proportional Consumption Function 

3-llj,41facfi "3"tl~ "qi"Wf 

(c) Non Proportional Consumption Function 

SECTION-Cl~-~ 

Describe the main functions of Central Bank. 

What is Philips Curve? Explairi the short-run and long-run Philips Curve. -Nifcilfl cP-l'l °%? ok'4cfiictl1 (f~ c;_l¤fcfil("111 ft.fifcilfl cfiT o!lT&ll ~I 

9. (a) Write short note on the LM Curve. 

LM~ m~ fco:rTm ~I 

10+5+5 

20 

20 

10 

(b) On the basis of following informations find out the rate of interest and income in equilibrium 

with the help of the IS-LM Curves equation:- 10 

Consumption Function C = 120+0.80y 
,,--- - - , . r::.- ---

Investment Function I = 58-i 

Function of total Demand of Money M '= o1oy -4i 
•-------_.:__:d , ::::: 

Total Supply of Money M. = 148 Rs --=--'\ ____ ,. 
V-0086/5262 P.T.O. 



f.fl:{ W'fTT3TI .ct 3TI9-W: 1R IS cl LM ct wfP:fi<Oi cfft -mr:raT i:f 'cfft o?.TT 

· ~mrl -q;ffi C = 120+0.80y 

f.rcrn -q;ffi I= 58-i 

cf>1 lWT cfil -q;ffi Md = 0.20y - 4i 

7:fil M, = 148 Rs 
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Write your roll number on question-paper before starts writing answer of questions. 

No supplementary answer book will be given to any candidate. Hence the candidates should write the 

· answer precisely in the main answer book only. 

\ _ fcfim tjt -cro~2fi q;) c._1 ~I 3IB: -cro~$:rr q;) fcfi" cf :!W-J it eft - ~mc);cW~I 

Attempt Five questions in all selecting at least one question from each section. All questions carry equal 

marks. 

SECTION-~-31' 

1. (a) A cyclist covers his first 5 km at an average SJ?eed of 10 km per hours. another 3 km at 8 km. 

per hour and last 2 km at 5 km per hrs. Find the overage' speed for the entire journey and 

verity your answer. 4 

~~WITT am_<mn cfi s f<fi".m. 10 f<fi".m >lfu cn1 <::{ 'B, aTiffi 3 %.m s %.m. 

"9fu tR cfft <::{ it om 2 % . .ft s % . .ft. "9fu cfft <::{ it w:i cfl«fT i-1 iru <mn cfft 

o?-TT -qftuyp:r cfil ~I 

V-0087/5263 P.T.O. 



(b) An analysis of weekly wages paid to workers. in two firms a And B belonging to th e same 

industry gives the following results. 8 

Number of workers~ cfil .ms?.TT N 
Average W~ges (Rs) -(~.) 
Variance of Wages. cfiT 

(i) Wh ich firm A or B has larger wage bill? 

~1lill Aa~B~l~~ 3lf~°%? 

(ii) Which firm has greater viability in wages 

. 1lill # # fqtj{o1~naa1 

(iii) Find Group standard derivation. 

fll~cfi '!,ll=JlUT ffiWf ~I 

Firm A 'Cfi'tf 3'.J 
600 
175 
100 

FirmBl:fi'tf 'o'f 
500 
186 
81 

(c) From the infol'!11ation given below calculate Karl Pearson's coefficient of skewness 8 

Measure l=fftf'f 

Mean.:JT~ 
Median .:nf~ 
Standard devivation (S.D) mffi 

PlaceA~ 3'.J 
. 256.5 
201.1 
215.0 

PlaceB-~ 
240.8 
201.6 
181.0 

2. (a) Show that correlation coefficient is the geometric mean between regression coefficients. 4 

(b) From the following date calculate the coefficient of correlation between X and Y 8 

X: 

Y: 

V-0087 /5263 

78 

125 

89 

137 

99 

156 

2 

60 

112 

59 

107 

79 

136 

68 

123 

61 

108 



i 

(c) At a certain examination 250 students appeared the following data related to the marks 

Secured by them in statistics and economics : are: 

Mean marks~ 

S.D of Marks 3m' q;r WWl fcRITT;r 

Correlation coefficient r ==.8 

Statistics f!if@if>l 

60' 

14 

Economics 3'.!$TITT 

60 

12 

Obtain the regression equation of economics on statistics and estimate marks in economics when 

marks in statistics is 80. 8 

,3'.j~ q;r flif@if>l 1R \.ldl4•1141 fl'-l1cfr(OI ut1t1if@if>l ct '!ll'ffl' 80 m m ,3'.j~ ct 

q;r ~I 

3. (a) . Why Fisher's formula is revered to as an ldeal Index? Explain it. 

~ct~ cliT t? ~I 

(b) · From the following information prepare an ideal Index number 

Items Base year 

3TI~ cfrsf 

Current 

Year~ cfrsf 

8 

12 

Price/Unit Expenditure Rs. Quantity Purchased Expenditure Rs. 

cfiTmf~ '52l'<i~. lf ~m,rr cxl<I~.if 
A 6 300 56 560 

B 2 200 80 240 

C 4 240 90 360 

D 10 300 24 288 

E 8 320 36 432 

V-0087/5263 3 P.T.0. 
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SECTION-B~-~ 

4. (a) A class consists of 80 students 25 of them are girts and 55 boys. 10 of them are rich and re-

maining poor'. 20 of them are fair complexioned. What are the probability of selecting a fair 

complexioned rich girl? 6 

'Q,cfi" cfia.,i 80 min i 25 -q:ci 55 i, 10 a:rim: t q lffiol t, 
20 t, 'Q,cfi" q m clil <t"r <F-l'1 t., 

(b) A bag contains 8 white 4 red halls. Five halls are drawn at random. What is the probability 

that-2 of them are red and 3 white. 4 

r, 

'Q,cfi" 8 ~ ,-q;cf 4 i, 5 ~f.lffl~t, ffi 

2 1R ffifl cf2TT 3 'ITTl'TII 

(c) How does a normal distribution differ from a binomial distribution? What are the important 

properties.of a normal distribution? 10 

-
5. (a) · A certain stimulus administered to each of 12 patients resulted in the following changes of 

Blood pressure: 8 

+5 +2 +8, -1, +3, 0, +6, -2, +I, +5, 0, +4, ' ' ' . 

Can be concluded that the stimulus will be general be accompanied by increased in blood 

pressure. 

7jf'f ~l~l~dlll mffi ~I 

[ V = 11, t.05 = l. 796 l 

V-0087/5263 4 



(b) State three areas wh~re x2 test is used. 3 

.. 
(c) Two random samples were drawn from two normal populations and their values are. 9 

A 66 67 75 76 82 84 88 90 92 

B 64 66 74 78 82 85 87 92 93 95 97 

Test whether the two populations have the same variance at .the 5% level of Significance. 

(F=3.36 at 5% level for vl =10 v2 =8) 

I 6. ca) Explain the properties .of binomial distribution. 4 
r 

(bl Solve the following linea:r programming problem by Simplex method. 16 

f.:n:=:r tfurco cfiT f~Uclcffi fc!f~ ~I 

Maximise 7r = 5x1 +3x2 

Constraints. 3x1 +5x2 :;; 15 

and 'ff2TT 5x1 +2x2 0 

V-0087 /5263. 5 P.T.O. 



· SECTION-Cfflf'O's-~ 

7. (a) IfU=x2y and Price ofx (Px=l) Price ofy (Py=l) and Income y=4 than find out the quantity of 

x, and y which maximize utility. 10 

U=x2y % x .ctt qi7lffi (Px=l) i, y cfi1 qi7lffi Py::::l om 3Wf cfiT «R y=4 % o1 x om 

y ct 6-!j<fi.._l!'ktt{ TfR -m 3q4,rm1 qi1 a:rf~ ~I 

{b) Given demand function P=10-2x and supply function P=2x find cqnsumer surplus and 

Producer surplus in equilibrium condition. • 7 

lffrr P=10-2x om 1{fif P=2x Wl'J -i3ll % of cfi1 WlIB it "3Tl~ cfi1 q-qo om 
I 

~ceft~ -~~I 

( c) Given demand function P=3x2-4 then find elasticity of demand. 

~. (a) Minimize the cost if cost function is C=3L+4K and Production function is 2LK = 337 .5 8 

-
'ffi1IB ~I 'llR 'ffi1IB C=3 L+4K %, nm -qi'ffi 2 LK = 337.5 %1 

(b) Total cost Function of a firm is Tc=lq3-2q2+ 15q+ 10 find AVC and MC and also find at what . 

level of output AVC Will be minimum. 8 

1fii:f cfiT 'ffi1IB -q;WJ Tc=lq3-2q2+15q+l0Wl'I ~3lf t m AVCom MC~~ nm~ 

.m fcfi" ~~ct «r: -q'{ Ave~ mrtr1 

(c) If MR=20-2x-4x2 then find TR and AR 4 

"'-l'fc:: -~ MR=20-2x-4x2 %1 <W cfFf 3lf<J TR nm 3mIB 3lf<J AR Wcf ~I 

V-0087/5263 6 

I 
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I 

9. (a) If?.lR : · 

[

2 2 
A= 1 1 

3 2 

4] ' 
: Then find (A-1) inverce matrix. 

m (A1)~ ~1 

(b) Solve the following system of equations by Cramer's rule. 

x+y+z=3 

2x + 3y+ 4z = 9 

X + 2y-4z =-1 

***** 

r.0087/5263 7 
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Write your roll number on question-paper before starts writing answer of questions. 

m -q;r 1:R ~I 

No supplementary answer book will be given to any candidate. Hence the candidates should write the 

answer precisely in th~ main answer book only. 

All the parts of one question should be answered at one place in the answer-book. One complete question 

should not be answered at different places in the answer-book. 

tjr <$ 3Rll@ m $ ~-~-q 3lWT-3lWT 1:R ffl cfiB * 
"ITT ~ -1:R q;i:1 

Atte:i;npt Five questions in: all selecting at least one question from e'ach section. All questions carry equal 

marks. 
# cfil:r-~-cfil:r m cf,f T.j(R cw)~,~ ,ffq m ~1 m at<fi f1 

Sf;CTION-~-31 

1. Critically examine Environmental _Kuznets Hypothesis. 

q21fc:t.(OI B cfi'1!~2'8 qf<cfi(."'4'11 qft ¢il<.11il'11c-l-lcfi ~I 
"' " 

2. Explain sustainable development. Wh3:t are the objectives of sustainable development explain 

environmental protection and-sustainable development? 
I • 

fqqim 'cfiT '8l-1~1$Q,I cfll'i ~? fqcf)ffi (~ ~) <fl1 omm 

~I I 
' V-0104-5294/6473 P.T.O. 



3. :Explain its. 

(a) Renewable resources and non renewable resources. 

1q~jc:t,{Uftq mw:R a~ it<-1q"jc:t,.(Uftq mw:R 

(b) Technological changes and Long term Growth 

<{')Etc:tii~~H . 

SECTION/~-lf 

4. Explain different types of environmental values. 

fcffeF:r m ct q4\q:,_oft4 ct\" ~I 

5. Explain its. 

(a) Environmental valuation-Travel cost Method; 

(b) Production function and cost function. 

6. . Explain concept of green G.D.P. How it is differ from Conventional National Income accounts 

method? 
mtr <Pll i ~1 w'4<1•1a ]1<l fcrtl:l ~~mm i? 

SECTION-Cl~-~ 

7. Explain Critical Environmental Policy in India. 

'GRcf -q i:r:lfcRUT -;fifcl cf,1 3-tl(.'\1!·,fit,l-li:½i ~I 

8. Explain Innovative approaches .to control Environmental Pollution. 

9. Explain its. 

(a) Pollution Taxes and Management Studies 

i:r:lfcRUT_ -q:ci 'i_~lcfi{O( (-aiwR <lT "cfilft) 

(b) Quantitative Regulations for Environmental . . 
l-11511,l-lcfi 

V-0104-5294/6473 2 
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